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223 | 107.8.27 HIk F - 31.23 31.23 NEET o 2L0
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215 | 105.09. 21 % F r 33 - - 3.51 3.51 #H ¢ i93F
214 | 104.10. 20 % F r 3 - - 1.9 1.9 B
213 | 104.09. 24 W3 3 - - 3.8 3.8 =k
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160 | 102.4.16 BE Fu - 1.2 2.5 3.6 #
159 | 102.4.15 FER KA - 7.5 15.3 22.8 )
158 102.4.11 K r 34 - 1.4 26 4 Fr
157 | 102.4.10 Sk 3 ] 21 39 5 )
156 | 1024.2 SERE KA - 5.6 13.6 19.2 # I
155 | 102.3.19 ERF Fu - 5.4 9 14.4 # W
154 | 102.3.8 #EA F A - 8.5 17.4 25.9 i
153 | 102.3.7 S F KA - 274 41.9 69.3 %7
152 | 10237 % F £ i 3.8 3 118 L
151 | 10237 i Fi - 14.2 26 40.2 W
150 | 10234 wER i - 4.6 21 25.6 L3
149 | 102.2.27 BFe T } 53 93 146 ey
148 | 102.2.27 REY] T ] ] 05 05 e
147 | 102221 APRE F A : : 6.8 68 %
146 | 102.2.6 #F K - 16 29.3 45.3 # b
145 | 102.2.4 BERE i - 2.2 3.9 6.1 # b




ae | e - . o131 #-134 o137 | 41344037 e .
(Bsc/aT) [ (Bsel=am) | (B sel=T) (B sc/=1)
144 | 102.1.25 ok K ] ] 55 55 3
143 | 102.1.23 #F K - i 215 215 e
142 | 102.1.17 HE i - 16.1 28 44.1 s
141 | 102.14 S E# Lk - 2.8 6.6 9.5 & s
140 | 101.12.27 A F FoiE - 1.4 2.4 3.8 S
139 | 101.12.27 3 33 - 3.2 43 76 LR
138 | 101.12.20 i T - 36 6.9 10.5 &
137 | 101.11.29 FFEw T i 8.8 15 238 C
136 | 101.11.23 %K A i i 13 13 oy
135 | 101.11.20 G BB £ A 0.6 13 19 .
134 | 101.11.15 HF T A 17 26 13 oy
133 | 101.11.15 &K g A 31 58 9 oy
132 | 101.11.14 BE Ko i 21 57 3 §
131 | 101.11.14 kR ikl - 7.3 1.4 8.7 § v
130 | 101.11.7 B # KA : 14 17.2 31.2 # b
129 | 101.10.11 FRES k& - 2.9 5.7 36 1
128 | 101.10.8 L SCES s PRy ] 15.4 28 434 5
127 | 101.104 BF F A - 7.5 10 175 # b
126 | 101.10.4 Ke FA _ 44 - T ey




s | mma o e #-181 #-134 #1837 | #-130445-137 » .
(Bsel=T) | (Bse/2T) | (B sa/aT) (B se/=7)
125 | 101.10.4 A KA - 4.3 8.8 13 # Wy
124 | 101.10.3 %K F A - 12.4 21.3 33.7 i 7
123 | 101.10.3 HF K - 16.6 29.9 46.5 # W
122 | 101.10.2 o o - 11.6 21 32.6 % %
121 | 101101 |#FFCHe mikd | A - 10.6 13.2 23.8 i 7
1)
120 | 101.9.27 ey A - 24.9 45.6 70.5 <R
119 | 101.9.20 23 k% 57 - 2.1 3.8 6 W 1
118 | 101.9.13 %R FA - 3.2 5 8.3 %3
117 | 101.9.6 ke L - 4.9 6 10.9 af ¢
116 | 101.8.31 Y i - 6.7 103 17 ey
115 | 101.8.28 S FFe F i - 3.2 6.5 9.7 g
114 | 101.8.22 T bR 15 - 3 4.7 7.7 # W
113 | 101.8.14 S FFe F - 10.7 18.9 29.6 i 7
112 | 101.8.10 S F KA : 23.2 40.7 63.9 # I
111 | 101.8.10 i Fi - 14.3 25 39.3 W
110 | 101.8.10 S Fu - 15.5 24.7 40.2 W




s | mman =2 ;%-131/ %-134/ ﬁéj '137, 4 -1344+¢a=-‘137 25
(Bsel=T) | (Bse/2T) | (B sa/aT) (B se/=7)
109 101.8.9 | A4 & » (7t e 185 - 5 8.1 13.1 AREET ]
D)
108 101.8.9 % F 31 - 7.1 11 18.1 Bk
107 | 101.7.31 298 F 31 - 3.9 6.3 10.2 L7
106 | 101.7.31 298 F 31 - 28.7 435 72.2 L7
105 | 101.7.26 HE 3= - 2.3 3.8 6.1 =
104 | 101.7.26 PRsEHR r 3 - 12.5 20.7 33.2 § s
103 | 101.7.25 HE V3= - 3.4 5.3 8.7 §
102 | 101.7.25 | A& R e EikE 185 - 10.8 15.2 26 A g
&)
101 | 101.7.24 S F 31 - 24.4 32.8 57.2 < K
100 | 101.7.24 R 3 r 31 - 12.5 26.1 38.7 < K
99 | 101713 B F KA - 9.7 14.1 23.8 # I
98 101.6.29 BE r 33 - 47.6 76.3 123.9 L7
97 101.6.20 I 33 - 11 17.9 28.9 L
96 101.6.19 % F 33 - - 0.2 0.2 12

10




aen | o . e B3 | #-134 #-137 | #-134+8-137 i
(B sc/oT) [ (Bse/=aT) | (B se/aT) (B 5e/27)
95 | 101.6.15 %K F - 28.6 45.8 74.4 <R
94 | 101.6.11 s F F - 12.2 17.7 29.9 <R
03 | 101530 |44 F(*he Kk 1% - 10.1 16.9 7 e
)
92 | 101529 HE A ki - 18.5 43.6 62.1 # B
ol | 101518 SERE Lk - 49.3 79.2 128.5 # W
9 | 101511 RFChe K & - 16.9 22.2 39.1 N
fe i)
89 | 101511 HERE KA : 47.6 81.8 129.5 # I
88 | 10153 B F A - 34 53 a7 o
87 | 10153 #ERF Fi - 50 7 127 # b
86 | 10153 &R ikl - 17 27 44 b
85 | 101.05.03 #*FE F - 8.3 11 19.3 & v
84 | 101.04.27 BERE KA - 42.2 60.9 103.1 # b
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47 | 100.10.25 LB A KA & - 3.7 5.4 9 B4
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44 | 100.10.04 g et ) KA & - 58.1 64.4 122.5 i
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